pllEiS

ATAFRBE OISR 2N R AT A D HEH 0 8 K Ok HITRGE 1

(ZHED & S L 7 E ORI

| GEANICH - CIEAFR) E] GENCH - TIEET- 5 FEFT O FEHI)
. T 714-0092
g|FTA TR L U 53 0 1002
REVERL|ERE4 - EERED PR 1 AR BTG
et p Yl 0| 28 |HelA o AR TN A - R
FED |FENE (LSI, A4 — K, BHLA A4 —F, FOHEK L —F ok
WE B |(EEE% 7234 CERKS1IAE3 H R B E/E)
A TR DL TR P £ Hh
O |E_1% [if] 1Ly Ve A5 o] T i) 5525 i
BNo | @ |F T T L1 L ] 7 2 7 10028 H
T | © [EERER [if] 1Ly Ve A% o] T i) 1005
IiElk'f
i e 2 | L] OBRBHEIRIRTLL, 500k02L 1= [ @174 « }997100H, #7v-250B L0 L[] @CoH%53, 000t 2L b
DEHEM | (@ T 3% DK 3 R @i Ll (DY DLHE) )
REZHEN A [FEEFEE CERR 28 4FE) ( ¥Rk 30 )EEYEHE |pEsEC S 2 FRE)
HEH & 73,107 t CO. 69, 955 t CO: 72,017 t CO:
xA T35 D4R PRk 30 ) FEHEH &
O -1 64, 704 t CO.
— @ — T4 5,095 t CO:
T T p
DHEH B @ |"EHH 156 t CO:
t CO2
t CO2
t CO2
_ S Wk 29 4EFE ~ a2 FE (4 HFEE)
NG AERE: - NPr—— — —
LA GUFELLIE | (30 ) GENAEE | BERRE TR
L By e v 4.3 % 1.5 % | 4] EERL mE S
I REDEA A O R E B BRE b OBEDONR RN Y 7~ 0 DR A
éﬁgggf TS C 30 ) 0] FEAE
i%ﬁi)i L;Cl/\%)
Branici ) 02/ ( ) 0/ ( ) 0/ ( )
GE4 T DIHIA)
RyFv—r|  KABEEOLT Ry Fv— 7 FeE BB Gk 30 4RFE) |iEpkRak
FREEDARIL

(R o B 254 ]

AT RIEOFHFHEIC IO X ixw%—ﬁﬁ%ﬁ%mﬁbﬁﬁ%\%i*ﬂﬁmﬁwﬁhﬁo

- CO2HEH AL, 48 = &t

-A%&%\ﬁﬁbtﬁ%%%% %mﬁé&&%_\

1> THERNERRIZHR D A1 A T2,
BN DB R 2 RE 5,




(e (A ]

s BT REICEES K AL R E Al & U 7o o koL — R BRI 2 A

- BREREXIRE B S GEEE - FEEE R 1R BREE G 7 v—7 ) — 4 —

B OBREE FIER OFE R 2 H 7 4 v —,

) Zm AL, TN

[ A AR HIIBCR SRR O 72 D |2 Sk L 7= il K OV5 1 D B ]

THE DL Fti L 7= FE5E K OVS % OBFLONE
(304 Ehti5y) (304 FE FEhti5y)
o - FHITE O RBIRERS/ 2= s O F BLR E (36k1/4) ¢ (3.49 t —C02)
A HREE - AEPERE O b, BESRMEO LB L (40k1/4F) ;@ (3.88 t -C02)
F—T4 o ZESEMEEE D BT (20k1/4E) ¢ (1. 94 t —C02)
BT - I H p;dr:iﬁﬂﬂﬂﬁz%(%«ﬁ%@%ﬁ%ﬁm%) (160k1/4) : (15.52 t —C02)
-H*%{%EEQ B BB R ES O/ T (20k1/4F) - (1. 94 t —C02)

ZE kA 0)9?%5(40k1/£ﬁ) (3.88. t-C02)

(51 Fhi T EST) (5 1% FEhti T E47)
2t « LEDERBH 3 A (10k1/4) : (0.97 t —C02)
BT BN T T —2 =y P~OFEH (40k1 /)

t -C02)

-ﬁ;@fﬁwyfyv*—&1tUOMdﬂ$):(97t—um)

(3.88 t =€02)
BN T 7 ARERTEEM 2 A Lo A 7 T N —8 A (40k1/4F) ¢ (3.88

s NI =T —HarF Ly —o@hZREH (50k1/4E) : (4.85 t -C02)
- KFBFATEE O TERR AL (120k1/4) © (11. 64t-C02)

(R AR LR 2 S5 WG SR~ D A ]

BN -
D HGiE g
Z Dt il

[FAErfE= XL —Di#E A

BAT |
aYivEcl
Z D, il

(£ OMFFFLHIH]




